Janitorial Service

PROPOSAL BIDDING SHEET SCHEDULE SERVICE AREA 1

The following items represent the physical locations of services at which janitorial services are to be provided **daily and weekly** for a two year period. These costs represent the <u>base</u> bid, including all sales and other taxes.

<u>ITEM</u>	DESCRIPTION	MONTHLY	
1.	Administration Office 220 Nellen Ave. Corte Madera, CA 94925	\$ 3,189.02	X 12 = \$ <u>38,268.24</u>
2.	Corporation Yard 220 Tamal Vista Blvd. Corte Madera, CA 94925	\$ 1,784.50	X 12 = \$ <u>21,414.00</u>
3.	Water Quality Lab 220 Tamal Vista Blvd Corte Madera, CA 94925	\$_934.90	X 12 = \$ <u>11,218.80</u>

The following items represent the physical locations of services at which janitorial services are to be provided **quarterly**. These costs represent the base bid, including all sales and other taxes.

ITEM	DESCRIPTION	QUARTERERI	<u>LY</u>
4.	Administration Office 220 Nellen Ave. Corte Madera, CA 94925	\$650.00	X 4 = \$ <u>2,600.00</u>
5.	Corporation Yard 220 Tamal Vista Blvd. Corte Madera, CA 94925	\$358.80	X 4 = \$ <u>1,435.20</u>

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>QUARTER</u>	
6.	Water Quality Lab 220 Tamal Vista Blvd.		
	Corte Madera, CA 94925	\$ <u>450.74</u>	X 4 = \$ <u>1,802.96</u>

The following items represent the physical locations of services at which janitorial services are to be provided **annually**. These costs represent the base bid, including all sales and other taxes.

<u>ITEM</u>	<u>DESCRIPTION</u>	<u>ANNUAL</u>	
6.	Admin Building, Corporation Yard and Water Quality Lab		
	Corte Madera, CA 94925		
		\$ <u>7,367.96</u>	X 1 = \$ <u>7,367.96</u>

GRAND TOTAL FOR ONE YEAR OF SERVICE – AREA 1 \$84,107.16

x 2yrs = \$168,214.32

The District reserves the right to reject any or all bids. The Professional Service Agreement will be awarded to the lowest responsible bidder as determined by the District. The Professional Service Agreement shall be awarded to only one service provider for all work described in the bid items.

Nuull	ML Cleaning Inc
SIGNATURE	COMPANY
Morcodes lanfair	
PRINT SIGNATURE NAME	
804 Garfield Dr Petaluma	Petaluma Ca 94954
ADDRESS	CITY/STATE/ZIP CODE
707 765 2855	10/29/2024
TELEPHONE NUMBER	DATE

PROPOSAL BIDDING SHEET SCHEDULE SERVICE AREA 2

The following items represent the physical locations of services at which janitorial services are to be provided **two days a week and three days a week, respectively** for a 12-month period. These costs represent the base bid.

<u>ITEM</u>	DESCRIPTION	MONTHLY	
1.	Sky Oaks Headquarters		
	49 Sky Oaks Rd. Farifax, CA 94930	\$ 698.20	X 12 = \$ <u>8,378.40</u>
1. 2.	Bon Tempe Treatment Plant The End of Sky Oaks Rd. Fairfax, CA 94930	\$ 658.50	X 12 = \$ <u>7,902.00</u>
3.	San Geronimo Treatment Plant 330 San Geronimo Valley Dr. Woodacre, CA 94973	\$ <u>599.82</u>	X 12 = \$ <u>7,197.84</u>

The following items represent the physical locations of services at which janitorial services are to be provided **quarterly**. These costs represent the base bid, including all sales and other taxes.

<u>ITEM</u>	DESCRIPTION	QUARTERLY	
4.	Sky Oaks Headquarters		
	49 Sky Oaks Rd. Fairfax, CA 94930	\$_520.80	X 4 = \$ <u>2,083.20</u>
5.	Bon Tempe Treatment Plant The End of Sky Oaks Rd. Fairfax, CA 94930	\$_297.50	X 4 = \$ <u>1,190.00</u>
6.	San Geronimo Treatment Plant 330 San Geronimo Valley Dr. Woodacre, CA 94973	\$ <u>349.66</u>	X 4 = \$ <u>1,398.64</u>

The following items represent the physical locations of services at which janitorial services are to be provided **annually** These costs represent the base bid, including all sales and other taxes.

<u>ITEM</u>	DESCRIPTION	<u>ANNUAL</u>	
1.	Sky Oaks Headquarters		
	49 Sky Oaks Rd. Farifax, CA 94930	\$ <u>698.20</u>	X 1 = \$ <u>698.20</u>
2.	Bon Tempe Treatment Plant The End of Sky Oaks Rd. Fairfax, CA 94930	\$ <u>658.50</u>	X 1 = \$ <u>658.50</u>
3.	San Geronimo Treatment Plant 330 San Geronimo Valley Dr. Woodacre, CA 94973	\$ <u>599.80</u>	X 1 = \$ <u>599.80</u>

GRAND TOTAL FOR ONE YEAR OF SERVICE – AREA 2 \$30,106.58

x 2 years = \$60,213.16

GRAND TOTAL FOR TWO YEARS OF SERVICE AREAS 1 & 2:

\$228,427.48

The District reserves the right to reject any or all bids. The Professional Service Agreement will be awarded to the lowest responsible bidder as determined by the District. The Professional Service Agreement shall be awarded to only one service provider for all work described in the bid items.

Marrell	ML Cleaning Inc
SIGNATURE	COMPANY
Morcodos lanfair	
PRINT SIGNATURE NAME	
804 Garfield Dr Petaluma	94954
ADDRESS	CITY/STATE/ZIP CODE
707 765 2855	10/29/2024
TELEPHONE NUMBER	DATE